1. [(3z — 11)°dx
2. [z(a+ bz)"dz
3]md$

m2
4. [ G de

5. f912+4

6. f 2+5ac+11
T
0. [ i
10. [ 1< dz

11. f 1+31

d
12. [ NeiEst
13 [z gy

14. [ €52 4z

SlIl x

15. [ \/%d

16. [ V=2,

cos? x

17f sin 2z dx

sin? x+3

18. [ cos® z dz

19. [sin®zdz

20. [ 4

cos T

21 f sin x

22. [ cos 3z sindx dx

23. [ [uecosz g

24. | 2 dx

T _
sin 3

=Bz —11)10+C

b2 n+2 n+1

g (L g () o

2—n 1—n
b% <(a+bw) (a+b:p) )JFC

2—n —n

b3 3—n

1 ((““’””)H —gqlethe) ™" 2 (”f’f)nm) e

éarctg %x +C

\Qﬁarctg f/ﬁ +C

In(x 4+ 24+ Va2 +4x+5)+C

% arcsin v/3z + C

%wgfqu%(fol)%JrC

In(4+e*)+C

A n 11; +C=-5m(1+37)+C

1 V2T41—-1
mz 0|+ C

%ln‘r’:c—i—C

+C

bl]’l x

+C

2 1
3 Vcos3 x

%tggx +C

\égarctg “\‘;”” +C

%x—l—isinQﬂc—i—C

%x—isian—i—C

1 1n|51nm+1| —|—C

sinz—1

%1n|cosw—l| +C

cosz+1

_cosTx _ cosz
14 2 +C

— % Varccosd z 4+ C

%ln‘cosz3—1| +C

cos x3+1




25. fm 1a+r(;t2gzd

26f

cosh T

27f

cosh T

28. f —=—dz

Coah T

29 fm
30.f$62$dx
31. [zlnxdx

32. f xa.’de

33. [Inzdx
34. [arcsinz dx

f (x2+1)n
36.f€arcsing;dx
37. [ sinh? z dz
38. f(l dz
39[%/%‘?&5
40. [ e* cosz da
41. [sinz In(tg z)dx
42. [ ztg’ v dw
43. f%

44. [In(z + V1 + 2?) dz

earetg

45]\/W

46. [ arcsin —da

Lln(1 +a2) — Larctg?z + C

2 arctg 6:” + C

arctg sinhx 4+ C

tghz +C

+C

ln sin x

GT2r-1+C

%(211195_ N+C

ll,ax o +C

ln a

z(lnz —1)+C

rarcsinz +v1 — 22 +C

Il = arctgx+c

In+l:%ln+2n(2+l +C,neN

%xearCsmz + %maTCSin 24 C

%(Sinh:ccoshx )+ C

= +C

x—+v1—22arcsinz + C

%(Sinxﬁ’QCOSx) +C

—coszIn(tgz) + 1 In|izesz| 4 ¢

14cosx

‘ rtgxr — %:172 +1n|COSx| o

arctg x 621‘
_Tg+1n|eT+1|+C

‘ ez +vVIita?) —VitaZ+C

1 _arctgz _x+1
‘ N

]

X arcsin wLJrl""arCtg\f_ﬁ_’_C




